You are a statistical officer. There is a hospital in your neighborhood. The hospital has six different wings. All the six wings are in the same demand to serve the patients. The ratio of in-patients to the out-patients is 1: 4. The average ratio of male patients to the female patients is 4: 5.  There are three shifts in the hospital 5:00a.m. – 1:00 p.m., 1:00 p.m. – 9:00 p.m., and 9:00 p.m.-5:00 a.m.   In the last shift usually many staff members are off duty and it is important to ensure that there will be enough people to cope with the workload on any particular night. The only way to keep them on duty is pay “double amount”. There is a maternity ward in the hospital. In the maternity ward 6000 deliveries are expected each year and these deliveries happened randomly around the clock. As a statistical officer estimate the chance that a patient enters randomly into the hospital will deliver a male baby in the late night and that is only the baby born in the hospital on that night.     
